PaLunoHas/ibHble KOPHU MHOrou4JieHa

dopmMympoBKa 1) x4 — 27x"2 — 14x + 120 =0 2) x4 — 5x~"3 + 10x~"2 — 10x+ 4 =0
B mMHorouyneHe suga A_nx~n + A_n—-1x~n-1 + ... + A_1x~"1 + A_0 = O, B_n=+-1 B_n=+-1
A nl=0 B 0=+-1;+-2;+-3 B 0=+-1;+-2;+-4
PayunoHanbHble KOpPHM cJ/leAyeT MCKaTb TOJIbKO CPeAM 4Yucesi Buga Wau - X"N4+0x"3 — 27x"2 — 14x + 120]|x-2 x"q4 — 5x~3 + 10x"2 — 10x + 4|x-1
B 0/B n,rge B_ 0 - genimtennib A_O u B_n - gennrenb A_n XN4-2x"3 IX"3+2x"2-23x-60 x"4-x"3 | X "3-4x"2+6x-4
2xXN3-27x"N2 -4x"3+10x"N2
Jdoka3aresibCTBO 2XN2-4x N2 -4xN3+4xN2
-23xN2-14x 6xN2-10x

Jlemma 1 -23x"N2+46x 6XxN2-6x
Ecnn npuBeneHHoe ypaBHeHue x~n + k n—1x~n-1 + ... + k 1x~1 + kK0 = 0 -60x+120 -4x+4
UMeeT Lie/Ibifi KOpEHb, TO OH 06s13aTe/IbHO ByAeT AenuTtenem cBoboaHoro YyaeHa K_n -60x+120 -4x+4

2X N3 - 7x "2 +5x—-1=0 0 0
JlemMma 2 B_n: +-2;+-1 XN3+2xN2-23x-60=0 XN3-4xN2+6x-4=0
[IpuBeaeHHoe ypaBHeHne x~n + k_n—1x~n—-1 + ... + kK 1x™1 + kK 0 = 0 He moxeTt B_0: +-1 B_n=+-1 B n=+-1
UMETb HU OAHOro APO6HOro KOPHS. B 0=+-1;+-2;+-3 B 0=+-1;+-2;+-4

B 0/B _n +-1/+-1 +-1/+-2 XA3+2x"2-23x-60|x+3 XA3-4xN 2+6x-4|x-2
3agava 1 A A XN3+3xN2 | Xx~2-x-20 XN3-2xN2 | XxN2-2x+2=>KOpHeN HeT

. X3 +0x"N2—- 3x — 2| x+1 2%(12)A3 — 7¥%(1/2)"2 + 5%¥1/2 -1 =0 “xA2-23x "X A2 +6X
Hauntn paunoHasibHble KOPHNU MHOIro4Ys1IeHoOB AZ4xAD ADox=2
_ X7 3+x |x#2-x 1/4-7/4+10/4-1=0 XA2-3X I AD
1) 2x"3 —7x"2+5x—-1=0 XA 2-3x
2) x"3-3x—-2=0 XA D-x 2x"3 — 7x"2 + 5x — 1 |x-~2 -20x-60 2x-4
B n=+-1 P 2XN3-x"N2 |2X A 2+6x+2 -20x-60 2x-4
B 0=+-2;+-1 C2x-2 6x"2+5x 0 0
0 6Xx"2+3x x1=5

3agaya 2 2x-1 x2=-4
Pewntb ypaBHeHnss YITOJIKOM x1=-1 2x-1
1) x4 — 27x"2 — 14x + 120 =0 X2=2 0

XN2+3x+1
3) X4 —4x "2 +6x—-—4=0 D=9-4=5

x1=(-3+V5)/2
x2=(-3-V5)/2



